MATH 3351 RAHMAN Week 3

10.1: LINEAR SYSTEMS OF ODESs

We study differential equations because real world processes are governed by rates. You have all seen
first order and even higher order ODEs representing one process, but what if there are multiple coupled
processes? Then we need an array of ODEs,

i1 = ay (t)z1 + a1tz + - 4 arp )z, + f1(t)
&2 = azn ()21 + azz(t)ez + -+ aza()zn + fo(t)

Ty = an1 (1)1 + an2(t)z2 + - + Gpn ()20 + fu(t)

This can be written as the matrix equation,

%7 —ADT + f () (1)

Then the solution to the ODE involves two parts, a characteristic part that solves the homogeneous equation,
and a particular part that supplements the solution to match the forcing on the right hand side. That is,
7 = 70 + 71,. Here 70 = 017(1) + 02?(2) + et cn?(”); i.e., it is a superposition of n solutions since we
have n ODEs, and this solves the homogeneous equation

d

—7 = AT 2

S = A1) 2)
Now lets go over some definitions that you may have seen before, but it’s worth revising.

Definition 1. The set of functions {hy, ha, ..., hy—1, h,} are said to be linearly independent if ¢;hy +cohs +
co++cp_1hp_1 + cphy, # 0, otherwise it is said to be linearly dependent.

Definition 2. The expression c1hy + cohs + -+ + ¢_1hp_1 + cnhy, is said to be a linear combination of
hi,ho, ... hn_1,hy.

Theorem 1. If 7O, F@ L F0D F 0 gre solutions to (2), then any linear combination of 2 s are
also solutions.

For example, T =c7® 4 02?(2), Y= a?® 4@ 4.y cn?("), etc. are also solutions.
Now we define what the Wronskian is, which you have seen before, but in a slightly different context.

Definition 3. The Wronskian is
(1) (2) (n)

xl xl .« .. xl
(1) (2) (n)
:L’ x PRI :I/'
w=|"2 2 - (3)
P o B O

Theorem 2. Suppose ?(1),7(2), .. .7?("_1)7?(") are solutions to (2) on an interval I, with the usual
initial conditions, then W # 0 guarantees they are linearly independent on € I.

So the rewording of the above theorem implies that if the Wronskian is zero at a single point then the
function may still be linearly independent.

Definition 4. The set of all linearly independent solutions of an ODE is called the fundamental set of
solutions for that ODE.



10.2: HOMOGENEOUS LINEAR SYSTEMS

Consider the 2 x 2 ODE % = A(t)?. As we have seen with the linear algebra problems, a 2-dimensional
eigenvalue problem has three types of solutions:

Case Eigenvalue Eigenvector General Solution
Real Distinct A? = )\7 =\ = )\1, Ao 7 = 71, 72 ? = 01716>\1t + 6272€A2t
Real Repeated AV =2 = A=)\ V=0, A =0V | T =ci e + e’ [Vt + W]

Z =c1et [V sin Ot + w cos O]

Complex Conjugat A=¢E+if T =7+id
omplex Lonjugate i ! -|—cze€t [700S9t—ﬁcoset]

Now, lets go over a bunch of examples

Ex: dz _ 3 :; K

at T \2
Solution: First find the eigenvalues,
’3? _2_3)\:(3—/\)(—2—>\)+4=6—/\+/\2+4=)\2—>\—2:()\—2)()\+1):0:>,\:_1,2

Then we find the eigenvectors,

(¢ 7)mmee () (e ()

Then the general solution is

Cdaz _ (3 -1

Solution: The eigenvalues are
3—A -1
9 —-3-A

g 7m0

And the generalized eigenvector is

(6 )77=()=7- ()

Then the general solution is

7=a(y)+al(3)(3)

Ex: Consider the system of ODEs & = 2z — 5y, y = x — 2y.

’A29+9A20;m0.

The eigenvector is,

2 =5

Solution: This translates into the matrix ODE % = (1 B

> 7. We take the eigenvalues as

usual,
2—A -5
1 —2—-A
Then the eigenvectors are,

(2419 _(2—4
=) =)
Then our solution is

T=c (21_1) et ey (2IZ> et =g (21H> (cost +isint) + co (2IZ> (cost —isint)
2cost — sint . (cost+ 2sint 2cost —sint . —cost —2sint
=C +1 . + co +1 .
cost sint cost —sint

l:(4_)\2)+5:)\2+1:0:)\:ﬂ



So, our real solution would be,

2cost —sint cost + 2sint
= (Cl +02> ( cost ) +(e1—e2) ( sint >

Notice, since the eigenvectors are complex conjugates, we only need one eigenvector to find our
solution. This is what we will do from now on. Don’t do the problem the way I showed the
instructional example!



